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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill
that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question.

(D) (C) (B) (A) QUESTIONS S.No
0.24 0.21 0.18 0.15 The number of < (sl (U 2CO; 1/ 8| 1
moles in 8 grams of CO, is equivlent to:
C,HSOH CH,OH C1oH00, CeH,,04 e b fgl CHO| 2
CH20 is the empirical formula of:
32 18 8 2 Ut Ll it N-Shell| 3
The maximum electrons in N-shell are:
St Hg Li Zn el oy idn| 4
The lightest metal at room temperature is:
+3 +2 +1 Zero The e st BT L8 S| 5
Oxidation states of group 18 elements are
&\ Je oF ” The number  _t Zx sl wsksd U2 UL CoH,| 6
Five Four Three Two of covalent bonds in C5H, molecule are:
Sat Fassh o, P e (RS Uleatn B O & LB Qi | 7
A dative bond is formed between ammonia
Nitrogen Hydrogen Boron Flourine and boron triflourides, the donor atom is:
10.3 gem™3 9.3 gem3 7.86 gcm-3 2.70 gcm3 s deres(r (0| 8
The density of gold is:
S S & L ksl SO Sz - Sty it 9
Methyl alcohol Water Liquid Ammenia CH,COOH | The universal solvent in the following is:
+7 +5 +3 +1 - AT T L HNOs [ 10
The oxidation state of Nitrogen in HNOj is:
Gt et 4e |- > I+e|Br+e” > Br|K —>K" +e” -{Lﬂldlﬂ'&)u:’zf:gtjeu 11
Which of the following is reduction reaction?
PO 90 ﬁ:" by - g The most -< reactive metal slie o | 12
Magnesium Potassium Silver Gold reactive metal among the following is:
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2. Answer briefly any FIVE parts from the following

(i) Define relative atomic mass based on C-12 scale. -/ Relative atomic mass ;s J C-12(i)
(ii) Calculate the formula mass of Potassium Sulphate. ~JU LGS b".:.:i*'(-it‘g (i)
The atomic mass of elements are; K =39 amu, S =32 amu, O =16 amu
(iii) Differentiate between molecule and molecular ion. g Eh At VB i
(iv) State four uses of isotope. -u:‘@l.-;'l;_.lgé =77 (iv)
(v) Differentiate between shell and sub shell. L EudpLt L -.—m'«f (v)
(vi) Write the reaction of chlorine with hydrogen and water. _Jf{}f{q»{a’bé{ig s 32 (vi)
(vii) Compare two physical properties of metals and non-metals. _J_)’JJIJ’KJI}J-J’»L v ;_";;I;«bv.- (vii)
(viii) State two properties of positve rays _u_f Uk .;..I:lr‘éu J'{; ,;%Jg( viii)
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3. Answer briefly any FIVE parts from the following

(i) Define electron affinity with an example. -J_/ ._y/JJ Electron Afinity L JE ()
(i) Distinguish between period and group in periodic table. = jf('f': UL 7:/’;'5;7 (i)
(iii) State the four salient features of Periodic Law. s Loy i
(iv) Differentiate between lone pair and bond pair of electron. -u:’a O L Skl )y & ulf’?l (iv)
(v) State the Octet and Duplet rules. SIS ki T (v)
(vi) Define ionic bond with an example. SIS @ LS T (vi)
(vii) Describe melting and boiling point of solids. TSely Ve 5055550k 55 U (vil)
(viii) State the Charles's law. Also write its mathematical representation. _u:’g..:,hl,«- J Ul u:f 3 /""J Srip. u’ilg (viii)
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4. Answer briefly any FIVE parts from the following
ce P AL 7o Sph SISy S oo JE (i)

() Justify with an example that the solubility of salt increases with the increase in temperature.

(ii) Differentiate between true solution and colloidal solution. _q)’ug J}u:‘. Colliodal Solution s/ True Solution (ii)
(iii) Define agueous solution with an example. -u_'/ - /.’}’lf—é JL‘A}/ Aqueous Solution (iii)
(iv) Calculate the oxidation number of chlorine in KCIO; . _k,rf&’;'/-,“w”‘-iu"’l'(c}_’u‘/uﬁ KCIO; (iv)
(v) Differentiate between electrolytic cell and galvanic cell. -q/ Uk J/J4 Galvanic Cell.s! Electrolytic Cell (v)
(vi) Differentiate between valency and oxidation state. -u‘-"ﬁ OA _*f:'“u“”-iu’( sl u“'&, (vi)

(vii) Differentiate between oxidizing and reducing agents. _u_'/ b JAA J"{“I ...E;y}w# £ L{( T (vii)

(viii) Difine Saturated solution and give example o dl}‘-/:l_u__/bé!/""d/uf‘)’b.u? ( viii)
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Note: Attempt any TWO questions.
4 ~H65 S It Qe 6y S PSS E U (a) -5
5. (a) Define mole and molecule. Calculate number of moles, and number of molecules in 6 g of water.(1+1+1+1)
5 -uf’gu@:.:»ﬁ'»é Sl J Szl § Uik 53 (b)
(b) Describe Rutherford's atomic model . Also state the Observations made by Rutherford. (1+1+1)
4 Sl JE S akd L2k Sy S s SR wkd (a) 6
6. (a) Describe the formation of covalent bond. Explain single, double and triple covalent bond with example. (2+1+1+1)
5 i rteXd (5. 3 Experimental § U1 S S we L Hiy (b)
(b) Define the Boyle's law. Explain the experimental verification of Boyle's law. (1+2)
4 e dor Pt 7!/’1'-9 O sy u::(:ufd""—fikf _qf._g/?JJ’-";ul}?u (a)-7
(a) Define electron affinity. why it increases in a period and decreases in a group in the Periodic Table (1+1.5+1.5)
5 - /En(NaoH) U T\ Eir T £ 3 Sip 50003 m » 04ME AT o224 i (b)

(b) How much N3OH is required to prepare its 500cm? - 0.4M Solution. 5



